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1 BHR BELS i ~ EEJCT 48,300 73,000 66% 32,400 50,700 64% 15,900 22,300 71%
2 BHR EiEZ Sm~BAH 36,800 66,500 56% 26,300 48,100 55% 10,500 17,400 60%
3 BHIE EIE4 SHEE~FIWRT—F 30,400 57,400 53% 22,200 40,100 55% 8,200 17,300 47%
4 BHR EIAFES I 3 ~ 22 A BEJCT 55.300 41,500 133% 27.200 19,700 138% 28,100 21,800 129%
5 BHIE EIAG B RS BB~ 2 HERICT 103,400 98,000 106% 61,200 65,400 94% 42,200 32,600 129%
6 BHR EREAR EHEAE~MT 53,700 62,200 86% 42,900 49,300 87% 10,800 12,900 84%
7 e |[HER E1g —ECT~BERE 55,200 61,800 89Y% 35,400 39,700 89% 19,800 22,100 90%
8 B E1& RERY—I~BrR 33,600 38,300 88Y 18,200 20,800 88y 15,400 17,500 88%
9 B Elotha B~ i 36,600 39,000 94% 23,200 25,100 92% 13.400 13,900 96%
10 i 5 R Eal S P 14,600 15,700 93% 11,400 12,500 91% 3,200 3,200 100%
11 g 12 CIEEEBIRE HERF ~ TIBEEAE 21,400 17,900 120% e 12,600 17% 6,600 5,300 125%
12 =ER EIAFEVERE HEEE s 68,900 73,500 949% 36,400 39,700 92% 32,500 33,800 96%
13 =88R 1AL 2 10 P 35,800 37,100 96% 11,500 12,900 89% 24300 24,200 100%
14 =858 - W~ 54,800 57,800 95% 33,900 37,200 91% 20,900 20,600 101%
NEXCO &5t 46,300 52,800 88% 28.400 33,800 84% 18.000 18,900 95%
15 BHE 12 {55 fE-2)1| 48200 47,100 102%
16 BHE 2B m L ma-EE 40,500 41,600 97%
17 BHE IEASE BR-S st 74.900 75,400 99%
18 |4 | BHIR 1B HER AEi-EBiE 32,600 36,200 90%
19 BHIE SEFEE TES-BR 40,000 41,300 97% FZh U ICEHERRERER U
20 BHE 6EEA - B AT 53.100 52,200 102%
21 BHIE 112 MEES IMEE-ELE 50,000 47,000 106%
22 BHIR 168 — = —E-—ERE 59400 58,900 101%
HEERE £5t 49.800 50,000 100%
hRE SREE 47.600 51,700 92%




